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=
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1) gling(e~*+ax2+bx)?=1, m ()

A.a:l,b:—l B. az—l,bz—l C. azl,bzl D. a=——,b=1
2 2 2 2
(2) THIREH, FEx=00FTENE ()

A f(x)=|xsin|x]  B.f(x)=]|] sin\/m C. f(x)=cos|x| D. f(x)= cos\/m

2 —ax, x<-1
g(x)=9 x, -1<x<0& f(x)+g(x)ER
x—>b, x>0

3) wEg -] Y
B £ (x) =
= L x>0

sz, Wo( )
Aa=3,b=1 B. a=3,b=2 C.a=-3,b=1 D. a=-3,b=2

(4) 1R f () E[0.1] EZNTS, B f(x)dr =00 ( )

A= f'(x) <OHT, f(%)<0 B. &/ "(x)<O0f, f(%)<0

C. = /f'(x)>08], f(%)<0 D. 24 f"(x) > ORY, f(%)<()

(5) iﬁM:J"z;(iix_dz v N:ﬁ”—x"dx, K:ﬁ(lﬂ/cosx)dxmugéM,N,Kag
2 X - e -

KINKE ()
AM>N>K BM>K>N CK>M>N DK>N>M
© [ ax] -y [ ] A-mdy= ()

1
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X HS EERRE N A

A2 A N A
3 6 3 6
1 10
(7) THUREREH, S5EREI0 1 1 |4BREYA ()
0 0 1
1 -1 0 -1
A 1 1 B.fO 1 1
0 1 0 0 1
1 -1 0 -1
Clo 1 0 DO 1 O
0 0 1 0 0

(8) iR A, BAnMER, ICr(X)9%EM XAk, (X Y) RRoRERE, W ()

A.r(A AB)=r(A) B.r(A BA)=r(A)
C.r(A4 B)=max{r(A),r(B)} D.r(4 B)=r(4" B")
—. [B=E: 9-14/h@, BE4 S, #2445,
(9) lim x’[arctan(x +1) —arctan x] =
(10) Bk y = x" +2Inx EEHBARLAIDESIZR.

+o0 1

(11) ————dx= .
5ox"—4x+3
| x=cos’t
(12) Eé}z{ 151 =" siRiaponsEs .
y=sin’ ¢ 4

. w . . 15
(13) REH 2 = 2(x, ) SR Inz + ¢ =y #E, WE| =

Tl
(14) RAR3IMNIERE, o, o0 BEETRNEESE, & Ao, =20, +a, +a,
Ao, = o, + 20y Aay=-a,+o, W ARNSEIRFHEER .
=. BEE: 15~23 v, $#£ 94 &3, RENSHCFRP. IERERENEELE. (15)

KRAERD J e’ arctan+/e* — ldx
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(16) THUELLRE /(x) HE jo" F(t)dt+ th(x—t)dt = ax’
() K f(x)
(1) & £ (x) FEXE0,1] LATF9ER 1, KaffE,

x=t—sint

(17) iQSFEIZiEZDEEEé%{ t(OSfSM)'—?ﬁEEEE,ﬁ%:E%Rﬁ

y=1-cos
j j (x +2)dxdy

b

(18) BHIEEk>1n2—-1, iFBB (x—1)(x—In’x+2kInx—1)>0

(19) —1R&BIK 2m, BA=ER, PBRTRKE. [E=/AfZ. EG, X=EBSHIASK

RIFTSAYER SR, FRKiz&IVE.

(20) B L: y = ng(x >0), JO(0,0),44(0,1), & PR L LiFNS, S BEL
OA 5E8%; AP K% L ATEIERRIERR, & P@shm (3, 4) BNE x HHERRE
=4, RIUE S XFATE t IR,

(21) BEF (x,}, x, >0, xe" =" —1,n=1,2-3F: & {x, }Usg, #Xlgn}cx

(22) BETIRBY (X, %,,X,) = (X, =%, +x,)° + (x, + ;)" +(x, +ax,)’, HF a B5%,

() 3K f(x,,x,,x;) =0 KR

(1) 3R f(x,,x,,x;) REHZ

1 2 a 1 a 2
(23) Bl a B2%z%, BiEEA=|1 3 0 |of&¥EsiaibhsEEB=0 1 1
2 7 -a -1 1 1

(1) Xxa

(1) KHE AP = B RIAJEHERE P



